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Principaux écarts en micromeétres  Température de référence : 20°C
Altsagos | 15IWE | 326 | 6510 1 10418 | 18430 | 30a50 [ soaso {searzo | 10 TR | ZME | B4 4
D10 +60 +78 +98 +120 | +149 +i8 +220 | +260 | +305 | 4355 [ +400 [ +140 | +480
+20 +30 +4) +50 +65 +80 +103 | +120 1 +145 | +170 | +190 | +210 | +230
F7 +le +22 +28 +34 +41 +50 +60 +71 +83 +96 +108 | +1i9 | +I31
+6 +10 +13 +16 +20 +25 +30 +36 +43 +30 +36 +62 +6R
G6 +8 +12 +14 +17 +20 +25 +29 +34 +39 +d44 +49 +54 +60
+2 +4 +5 16 +7 +9 +10 +12 +14 +13 +17 +18 +20
H6 +6 +5 +9 +11 +13 +16 +19 +22 +25 +29 +32 +36 +4¢
0 0 0 0 (] {1 0 0 Y 0 0 { 0
HT +10 +12 +15 +18 +21 +25 +30 +35 +40 +46 +52 +57 +63
0 0 4] 0 0 0 0 Q 0 0 0 0 0
Hs +14 +18 +22 +27 +33 +39 +46 +54 +63 +72 +31 +39 +97
0 0 1] 0 0 0 t) 4] ) Q 0 0 0
HO +25 +30 +36 +43 +32 +62 +74 +87 +100 | +115 | 130 | +140 | +155
0 0 0 0 0 1] 0 0 1] 0 0 0 0
HID +40 +43 +58 +70 +84 +100 | +120 | +140 | +160 | +I85 | +210 | +230 | +230
4] 0 \ 0 4 0 1] 0 1] 0 0 0 0
Hil ol +75 0 ¢ +L10 ¢ F130 | +160 | #1990 | 4210 | 4250 | 4290 § 4320 | 4360 | +400
0 {) 0 0 0 1] 0 0 0 {) 1] 0} 0
Hiz 100 | HR20 | 150 | +180 | 4210 [ +250 | 4300 [ +350 | +400 | +460 | +520 § +570 | +630
0 0 0 0 4] ) 0 {) 0 0 0 {) 0
H13 +140 | +180 | +220 | +270 | +330 | +390 | +460 | +540 [ +630 | +720 | +810 j +89%0 | +970
0 0 0 0 0 0 0 0 0 0 0 0 0
17 +4 + +8 +10 +2 +14 +18 +22 +26 +30 +36 +39 +43
-6 -0 -7 -8 -9 -1t -i2 -13 -14 -16 -i6 -i8 -20
K6 0 +2 +2 +2 +2 +3 +4 +4 +4 +5 +5 +7 +8
-6 - -7 -9 -11 -13 -15 -18 -21 -24 -27 -29 -32
K7 0 +3 +5 +O +h +7 9 +10 +12 +13 +16 +17 +18
-10 -9 -10 -12 -15 -8 -21 -25 -28 -33 -36 -40 -43
M7 -2 0 0 0 0 0 0 0 0 0 0 0 0
-12 -12 -15 -18 21 -25 -30 -33 40 -46 -52 -57 -63
N7 -4 -4 -4 -3 -7 -8 -9 -10 -12 -14 -14 -l6 -7
-14 -16 -19 -23 -28 -33 -39 -45 -52 -60 -66 -73 -80
NO -4 0 0 0 0 0 0 0 G 0 0 0 0
-29 -30 -36 -43 -52 -62 -74 -87 =100 -115 -130 -14¢ -155
P -0 -4 -12 -13 -18 -21 -26 -30 -36 -31 -47 -51 -35
-12 -17 -21 -26 =31 -37 -45 =52 -6l -70 -79 -87 95
P7 -6 -8 -9 -1l -14 -17 -21 -24 -18 -33 -36 -1l -45
-l6 =20 -24 -29 -33 42 -51 -39 -68 =75 -88 -G8 -108
pg -9 -12 -13 -8 -22 -26 -32 -37 -43 -50 -56 -62 -68
-31 -42 -1 -61 -74 -88 -106 -124 -143 - 163 -186 =202 =223




